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Pupds:should;betaughb’w
+  Add and, subtrach numbers withy up to- . digits using the formal, writteny methods of column addition
and; subtractions where, appropriate
+  Estimate and, use inverse operations to check answers to- o caleulation
. +  Solwe additions ands subtraction tuo-step problems in contents. deciding whichs operations and,
P

~

Also include money and measures contests: Reinforces correct place
eqg. 357 + 396 - 3913 value by reminding,
Introduce the colwnmadd;hmmeﬂwdjbg/

children to- add, the two- gisens numbenrs them the actual, value s 5
with (expanded column addition—see ¥'3). Teacher
model&ﬂwcompactmeﬂwd;uxﬂmwwad«ng 3 hundreds. not: 5 add, 3, for
children to- discuss similarities and, di i

establish howr b s carried, out. Makem’dwb
pupd&d:ﬂur@hneurldﬂnwﬂmﬂwuﬁmdcaladahom

i [ Add) ones first }> + 396
e A3
/ Bar modelling, Rani collects 365 beads in January. \

She collects 419 beads in April.
How many beads does she collect in January and April?

365 419

o

Masw‘é’ v addifion - see Fill in the empty boxes to make the equations correct.

NCETM website for more examples (71 I ]+ 1[B][ ] =999
DO+ OEI0 =10
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Pupils should, be taught, to

Year [,

» Subtract numbers with, up to- . digits using the formals written, methods of column subtrackion

where
o Estimate and use irwrerse

to check answers to- a caleulation

» Solve subtraction two- steps problems in contents, deciding which operations and methods to- use

° and why

wih,ezchanging (decormposiion)

\_

\

275 p<15/6!2]=
Goo

O+Tep0 +'50 +¢

0o
000+ 500+ GO0 + 2
000+ |00+90+ 2

[ e

o

Tointxoduwt}wcompad/meﬂwdf, ask childrer

<

bopﬂ}ﬁoma;subhﬂcﬁmcalﬂﬂﬂhmuﬂﬂvtha 27\'5'Lj_
haue done. Ask pupils ’(ooonﬂd@ho«utb

relﬂie/a’(oﬂwemeihodj knourwhatwamdm
an;d;wlwbwd%ﬁenenbto i |
understanding of it

/Mosterg,mu}mm see

Identify the missing numbers in these bar models. They are not drawn to scale.
NCETM website for more, eccamples 1000
| 353 I 354
2000
493 | I 754

Select your own numbers to make this bar model correct.

5000
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Pupl should b g o Year |,

o Recall: multiplication facts for multiplication tables up to 12 2

» Use place value, known derived facts to multiply mentally. including multiplying by O and, |

&m@ngbg|mdmulhplwg;fngeﬂmnfhmnumb@s
Recognise: and, use factor pairs and, commutatisityy i mental calculations

‘ oMu&pngdgbmd3anmbﬂ®by|d@bmmb@&u&n@}omaLwﬂﬁﬂuW
oSolMepmbLemsomMolmng,mulhpbémg/ addmg/mdudmg, the distributive lawr to- multiply

K as v objects are; connected to moba,ects /
multileEyZand/}digit&bga‘smgledigit(Gmdmeihodj) \

500
150

500 150 30

500 + 150 + 30 = 680

Gacpandﬂ:l/ writtery method, The cook H T o \
buys 463
packs of 4|63
apples.
How many * 8
apples
are there 214 Gx8)
attogether? 48 0 (60x8)
] oo

F ‘ Example AL
2,8 3
50 X |5 3
8|49
/MO.GteJ‘H/wnwlhphmhon lcationy — sees \
Tom ate 9 grapes at the picnic. Sam ate 3 times as many grapes as Tom.
NCETM website for more examples How many grapes did they eat altogether?

The bar model is a useful scaffold to develop fluency in this type of question.
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Pupils should be taught, to

. RecalLdWiﬁiomJ:ari&aﬁonnwlﬁphmhpmtublwuptoQ w12
OUSE’/PJ.O.U?/V‘Qh,l& knowmderwedjtfaat&todwwlemimiaug mdudmgdimdmgb)ayo and;|;dim’.ding
by | and multiplying together three, numbers

o Divide 2- d}.gxband;3 dig,{bnumbers/ng dxg,{tmunbﬂ\s;u&ng/(j:omnaLumﬁﬂvlagout
a&mobéecisw\ecomwctedj ol:mdf,(‘i&

Continue to- denelop short, dinsision
STEP I Pupils mush be secure with the process of short, dinision

dinscing 2-digit umbers by o single digit 18
(those thaty do- nob resull irv @ final: remainder—see steps in, ¥'3). 3

STEP 2. Pupd&moveonbodwwlmg/nwnber&uuﬂw

st gl by sl dighs e rblers 713
and; p:wcdﬁd;shotﬂd;notr\e&ﬂbwa;
Childfmwhoemeed;ﬂu&mpeduhpmmag/pmgms&toVSlﬂveh
When the, answer for the first column is zero (eig. | = 5).
duldrmcoulduuimﬂgumi@@mabovewacknow&dgﬂi&plaw 3
and, must always ‘cary the number (I) over to- the nend digit as o remainder O
5\ 8’5
U' bar model
Tha@m27redﬂowmand/qwut@aﬂ\m 9
Hour maruy times as many red flowers as white flowers are there?
Twwnbb@a compar\e,dJOnbl&amwlhplaoaﬁ’d\@oﬂ\@ l:\
We, knousr bothy quantities: To find the multiplier we divide 27 + 9. ‘
27
Masteny in division - see Johry has been thinking about some numbers,
He disideds as whole number by another whole
NCETM website for- more examples number and, gob 3125, Nous he has

u}habﬂwh»owholenwnbmmwﬂwaﬁpst
pluo&Camgowhdphirmwor\k;ﬂ\moub?
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